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BEEHZE (S04 5F)

= 4 G 1 fr.

PE | | | e B | e )

[CisaEED) (%) (CisaED)

ZFEHE 3,114 BFE (1,119
JE 5 Hh 15k
wdrEdi | 24.0 | 26 0.8 g5 |13.5 | 14
—=i| 41.8 | 18 1.3 g5 |15.9 [ 10
MR 6.5 | 41 0.2 $FE | 2.6 | 38
T 82.7 9 2.7 4 Z, |30.5 2
# A IR 9.2 | 36 0.3 $FE | 2.6 | 38
EET 12.8 | 31 0.4 * 5.5 | 14
Kl 7.1 38 0.2 * 3.3 | 21
wWigTi | 62.5 13 2.0 X x [(69)4
TLPA T 6.7 40 0.2 3 5.0 27
NFer | 67.4 12 2.2 FEDN |58.6 |(21)1
Fayi| 70.6 11 2.3 L= |20.9 |(16)4
Wy | 41.2 19 1.3 B=E |16.2 3
KAFi| 39.3 | 20 1.3 $FF |12.2 | 16
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1. REELRE (ODF)
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BEEDEE (SMM45E) (DDF)
N 2 {57 3 A
OB R | o B | o
(D [CE=4=D)
g i) tE 573 23 272
FE ok #th ik
4t R i kK 4.1 17 BxE (2.9 19
— =M K 13.3 5 500 X 10
WS TH | A 1.6 13 &S 0.9 44
FHT | AR 23.9 ((82)2]| BFFE (6.0 25
A F * 4| 28| B= |21 21
T BPER 4.6 28 E= X 23
Kb | R=E 1.4 24 RO X 16
gt | FBON 21.7 [(B2)4 &S 5.3 15
VAN ] x 0.6 | 48 | Lv£ %8 | 0.2 14
7N K 4.0 19 R=E 3.2 18
R | BPER 19.5 9 | zotttem |13.5 | (3)1
g | BFE 15.5 12 €= X 10
KiFi| BRE 5.5 9 HZ | 5.1 7
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mzi| 21.5 | 28 0.7 gFF |11.1 | 20
J. 4 B 7 1.7 52 0.1 B | 0.9 45
E= =] 1 44 0.2 $FE | 2.6 | 37
BEAH| 10.9 | 34 0.4 | &8N x | 13
H i 7 .4 | 35 0.3 = x | 16
FZpE | 117.2 5 3.8 Fp3E |81.1 [(43)4
IHZA T .4 43 0.2 T 3.7 33
b4 o & il 4.1 46 0.1 B S 2.2 30
yRE | 25.8 | 25 0.8 By |11.3 | 19
HEH| 12.8 | 31 0.4 | B3 |5.6 | 26
B Fili 2.2 | 51 0.1 P (0.7 | 47
TR T 4.9 | 45 0.2 $FE | 2.5 | 40
Ly 0.5 | 54 0.0 * 0.4 | 50
pNslig 2.4 | 49 0.1 * 1.7 | 34
RSy 8.6 37 0.3 3 8.2 21
KIEHT 3.5 | 47 0.1 $FE | 2.8 | 35
iSANLIN 7.0 | 39 0.2 23 x | 14




1. REELRE (ODF)

BEEMHEZE (Ff04F) (DDEF)

5 4 2 7. 3 7.
dh B e | | e B [

[Ci=aiEb) [CisaaED)
mzii | BRE 3.7 16 * 3.1
F2. 3R fiB i B S 0.6 47 8= 0.1
E= =il * 1.1 42 fE= X
ST EE 2.2 | 21 B} | 2.0
H e e 0| 32 B (1.9
ZEyi | fEE x [(31)6 * 12.9
| TEE x | 36 * 0.8
kx| BRI 1.8 43 B= 0.1
YRE T &S 8.9 10 £t 3.5
& ETH x 4.9 16 itE | 2.0
BAFH K 0.7 46 | AA4 | 0.6
it * 1.5 | 37 = X
HEy o BPEE 0.1 53 B= |00
KAHT [ Bp3 0.4 50 R=E 0.1
P uy * 0.3 | 51 = X
KRAIBHT * 0.5 | 49 itE 0.2
BEYTHT | FESE X 26 K 1.3
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N 3t 1 A
PR | v = | B | )
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T = A 11.5 33 0.4 Frx 6.0 24
T | 26.9 | 24 0.9 | % |6.7 | 22
AR ET 22.2 27 0.7 RBE 4.2 13
piaznr | 45.8 | 17 1.5 23 13.7 6
2 (e T 49.3 16 1.6 FEON |18.0 [(95)5
ST 32.5 22 1.0 5 0p X 8
78 = ;A Hh 15k

IRy 7 | 106. 4 6 3.4 FEDN |49.5 |(28)2
il 91.9 7 3.0 Br3E |61.4 [(76)5
x| 14.5 | 30 0.5 * 5.6 | 13
=S 86.4 8 2.8 PP [23.3 8
Zhkti | 74.3 | 10 2.4 | B3 |27.8 7
VBT | 143.6 4 4.6 | Erx |34.8 6
J0 N7 TH 2.4 | 50 0.1 * 1.6 | 35
& T 3.0 48 0.1 500 1.3 17
ZE Lk 15.2 29 0.5 B=E [7.3 6
=BT | 36.9 21 1. $FE [15.8 | 11




1. REELRE (ODF)

=
BXEHEE (ffM45FE) (DDF)
N 2 T 3 T
OB [P | | B ||
(=) [Ci=42ED)
IR B AT K 3.0 24 E=E 1.2 32
gr b ET | 8 DR 6.0 12 itE | 4.9 11
TR TR T 23 3.9 13 | A4 |3.7 9
mazuT [ fEE 12.2 8 P [12.1 17
ESpi i7'3 10. 6 10 T 6.6 23
2w LN - =1 6.8 5 | A4 | 5.3 6
Pa = AT bk
(AN ol - 5 =3 13.7 13 * 13.1 6
B | fBEE 14.7 |(35)7 i2 3 10. 6 9
| B 4.4 30 g= 1.6 22
A= * 21.2 1 B=E |12.0 4
ZZhR * 17.2 3 23 X 7
R | fEE 30.4 [(9)3 73 22.3 [(68)3
JN N T =58 0.2 10 248 0.2 9
1 e T * 1.0 | 43 P (0.5 | 49
HELH | BPHE 2.8 36 &S 2.1 31
= HET [ BRE 5.1 10 K 4.1 18




1. SRR

=3
BEEHEZE (S04 5)
= 4 3t 1 A
FEMER | b | o= 7| B | o )
(i) (%) i)
B =T dhisg
EiE | 411.4 [aH2| 13.3 FFx [217.8 | (5)2
)| 159.9 3 5.2 Br3E [82.6 |(41)3
AR | 58.7 | 15 1.9 B [39.0 |(54)1
ki | 61.0 | 14 2.0 | ®_OM [16.8 6
HJE | 900.4 [(2)1 29.0 = [350.5 | (1)1
Fegsmr | 28.7 | 23 .9 | 7mas5— (56) 1
BRSEHT 5.6 42 .2 | gaqs— 2
EAR AT 1.0 | 53 .0 | BFE 46
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EXxEHEE (SfM45FE) (DDE)

2 i 3 i
o7 e e | B Y
o H e H %8 JE i ' B | PEH % JE i

fiEM) (figr)

B = #hisg

EAETH i73 55.5 [(23)2| B= |26.2 |(80)2
BlNd| fEE 33.7 [(8)2 ;73 10. 7 8
AT | BFE 13.2 15 ft= X 13
Bk B3 11.9 18 * 9.2 9
IR | B3 325.0 | (2)1 i23 72.7 |(15)1
B RS HT e .8 32 S 2.2 29
ORET [ FESE 1 45 B33 | 0.1 52
R AT RB= 1 37 S 0.1 54
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=S
WiEHH - L A0 (Sf6eHE) . SMEAOQ (FF24F)
S R DNICE T a
(i) N N N N)
ZHE 3,461,470 | 75, 009 |40, 124 715 720
2 5k Hh 1=k
v | 1,171,598 (22,977 12,279 31 46
— & T [ 167,638 | 3,785 1,975 19 4
W~ 117 | 58, 156 1,274 659 5 16
J-H T |53, 108 1,172 630 9 =
#H | 141,495 | 3,075 1,601 11 8
HE T |27, 251 601 322 6 1
R |31,893 720 371 5 2
g Th |25, 769 586 314 6 1
1LrA T |42, 909 987 486 4 1
/INECT [ 69, 994 1,497 814 9 2
fag Yl |56, 768 1,336 718 28 3
g |51, 857 1,134 619 13 5
KINFTi |40, 492 930 503 7 -
EF . RFEE EREXSKRICESDCAO, AOBERUHERK

(SMMeFE1A1BHERE) I . RELAHstRE TE2HAE (§10
£108181E\#AE) J



2. FOHEER - FEAOL mEEAO

=S

MR - HBAO (SF6eHE) . MEAD (FFN24%5)
S DN B T %
(T4 (=P [C=PN) (=P (AN

521 |37, 044 836 438 8 -
g |37, 186 839 429 2 7
AT 23,362 478 258 3 1
=BT (30,911 680 367 4 =
H 17 | 39, 696 940 444 3 3
ZPH T (24, 768 611 320 23 1
16 2T [ 30, 680 689 327 4 4
At it | 38, 427 862 472 5 -
YR T [ 18, 831 437 233 9 1
& E 1 |38,914 888 461 6 3
EAFH |25, 626 611 302 2 2
HHRHT | 18, 554 440 227 3 1
B ET [ 7,157 159 82 1 -
KAWL 9,988 242 121 1 1
HLZ<HT [ 15, 065 351 177 2 1
RKIGHT (14,727 336 176 2 -
BEYTHET (17,319 371 208 2 -




2. FOHEER - FEAOL mEEAO

=3
QEBH - BAD (RAI6H) . HEAD (HFI2F)
S A A DN I T =
(HHEATF) [C=PN) [CEPN) [CEPN) (ON)]
FEEAT| 1,874 47 26 2 -
pr bl |11, 065 283 141 4 2
WM |21, 564 502 259 5 -
mznzur | 7,129 160 92 6 =
Seyzmy| 9, 239 209 118 6 1
= EmT 18, 939 434 230 4 =
76 = s i
[¢f] Iy T | 169, 745 3, 839 2,083 27 81
ARG | 39, 244 125 407 14 -
K457 | 69, 144 1,529 845 9 2
H W [ 186,071 4,164 2,313 37 225
22y | 78, 827 1, 884 1, 035 23 4
7 E T |68, 197 1,703 928 35 2
Zn~7ri | 33, 352 722 402 3 4
T |21, 430 492 261 2 -
Zx i |25, 706 614 328 5 3
s [HET |16, 845 423 231 7 3
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=3
RE®E - RAD (SH6M) . MEAD (H71245)
S L A NN T =
(Quxitol (PN} (=P} (PN} (O]
o = 5 o i
gl | 165,149 | 3,687 | 2,026 | 105 19
)10 81,635 | 1,864 | 1,007 49 27
diasiti 33,593 | 781 | 427 16 3
wrokit (17,762 | 431 | 241 19 | 117
st (23,045 | 589 | 353 | 101 6
AN | 1, 957 42 22 3 51
Heen | 1, 339 28 14 1 33
BT | 464 10 5 0 23
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S I — oo | e o
(ON) (N) (%) (%) (N)
Z508 66, 459 13, 729 21 63 | 20, 862
iR
L E™ 1, 232 254 21 63 347
—'B=Th 2,200 409 19 64 231
W= T 244 63 26 61 32
T 480 99 21 64 277
AT 758 174 23 62 206
HEE T 545 95 17 64 133
w1 923 180 20 63 75
HETH 541 95 18 64 406
AN ) 243 33 14 66 35
NPT 678 149 22 62 381
FBIRTH 2,396 415 17 64 1,029
T 1, 242 286 23 62 386
KAFT 677 155 23 62 318
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S I — ol | o
(N) (PN (%) %) (N)

FIE 2] 932 179 19 63 135
JE RN T 85 11 13 66 23
P = =it 355 107 30 60 8
BT 569 100 18 64 133
HET 624 127 20 63 70

Z=PE T 2,293 454 20 63 630
HZE T 330 59 18 65 10
b4 i 589 126 21 63 35
PR T 1, 003 170 17 64 177
HETH 984 176 18 64 58
EATH 159 23 14 65 15
ST 443 89 20 63 55
L mET 97 23 24 62 -
KT 317 76 24 62 152
FRZemT 151 35 23 64 76
RKIGHT 238 50 21 63 30
AN 329 68 21 63 88
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BEGEE. BR (aM245)
o B - - — i
(N) N (%) (%) (N)
T EFT 590 86 15 66 54
Br A LB T 453 85 19 63 117
TR ET 452 100 22 62 258
[EERSIEALNN 540 101 19 63 174
ey 815 146 18 64 151
T 344 68 20 62 121
7 = s

[¥57] iy T 2,798 554 20 64 796
ZEPE T 1, 096 269 25 61 456
X AT 1, 081 233 22 63 154
B 4,919 958 19 64 1,228
22y T 2,032 410 20 64 680
vE T 2,987 604 20 63 1, 743
FSIRVART] 319 67 21 64 21
e AT 117 20 17 64 25
S o O ] 737 160 22 63 160
== T 851 166 20 64 602
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o |w | R e ow | R
(N [ON) (%) G%) N
H= A ihis

EiETh 7,048 1, 444 20 63 2,533
= 4,273 887 21 63 1, 240
AR T 1,599 337 21 63 963
AT T 2, 981 507 17 64 560
FH T 8,292 2,162 26 60 3, 036
AR LT 342 56 16 65 110
HSEHT 87 19 22 63 104
EARAS 49 10 20 64 25
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=S
BEM (72 5)
< o |eBE| B L | W (W s
(O] ) (%) ) (%)
FHER 61,055 | 25,906 42 | 35, 149 58
R,
@il 1,936 477 25 1,459 75
— = 3, 656 900 25 2,756 75
W= 513 93 18 420 82
- T 440 209 48 231 53
FHIFH| 1,252 288 23 964 717
HER T 471 219 47 252 54
Kb 937 371 40 566 60
T 668 255 38 413 62
bANEaN o 857 105 12 752 88
IINETT 1,004 259 26 745 74
F R 2,992 1,014 34 1,978 66
R 798 456 57 342 43
PANSEE 636 279 44 357 56
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4. =R
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BR# (5 24%)
) ) (%) ) (%)
M 1,103 387 35 716 65
JE SRR T 177 37 21 140 79
E=y=ail 361 113 31 248 69
AT 595 233 39 362 61
HET 696 257 37 439 63
Z=PETTH 1, 895 934 49 961 51
HZETT 425 128 30 297 70
B[ =45 764 218 29 546 71
YR&E T 830 441 53 389 47
HEM 1,189 442 37 147 63
EAFH 293 65 22 228 78
HRERHT 379 189 50 190 50
B |y 103 34 33 69 67
pauli] 387 118 30 269 70
FRZHT 348 56 16 292 84
Kis 257 91 35 166 65
BEJLHT 336 156 46 180 54
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L e I A e

= = (%) = (%)
T =5 A 351 276 79 75 21
ST ZA LT 371 187 50 184 50
sgommr | 427 | 190 15 | 237 56
maznr| 482 | 230 18| 252 52
ESyaiy 632 343 54 289 46
AT 357 156 44 201 56
75 = s sk
p it | 3,156 | 1,073 34 | 2,083 66
s | 728 | 405 56 | 323 24
X5 1,094 418 38 676 62
HHET 5, 304 1,925 36 3,379 64
syt | 1,660 | 799 18 | sel 52
e | 3,277 | 1,124 34| 2,153 66
FISZTH 328 123 38 205 63
e 142 45 32 97 68
H &L 596 275 46 321 54
semmr | 837 | 327 39 | 510 61
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BRE (RF12 %)
N e A
(O} (O} (%) (O} (%)
=
EETh 4,234 2,642 62 1,592 38
=1 2,990 1,635 55 1,355 45
AR T 1, 004 560 56 444 44
gl | 2,614 | 1,236 47| 1,378 53
AT 3,535 2,904 82 631 18
A HEHT 339 147 43 192 57
HSEHT 208 39 19 169 81
EARAT 91 23 25 68 715




5. BEEEK BN - ERER

=
EEREAR-ZFEAN (FHN2F) | EFEE (Ff6 %)
= § Ef’%zii & A Ry ﬁ g %f/ihﬁ ﬁ@%
GRERIR) e 1) oo | Ok thev
ZEHE |26, 893 618 2 99 4,343
JE 5 Hh 15k
4 iy & 515 13 3 - -
— BT 917 1 1 X
e = 101 4 4 1 X
T 222 13 6 - -
ECE ) 303 7 2 - -
e ] 223 5 2 3 98
Kby 371 1 0 - -
e T 274 18 7 2 X
PANEEIN ] 113 2 2 - -
N 270 6 2 = =
Gyt | 1,098 46 4 - -
A 489 6 1 - —
KNF i 294 8 3 - -
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5. BEEEKR BN &
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BERERK -FEAN (FF01245F)
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E£EFEE (ff06 %)

GREEAA) GREE A (%) (B %) (ha)
FN 2% 394 4 1 - -
P& dR B T 37 = = = =
E=p =il 115 1 1 - -
AT 240 5 2 = =
H i 7 262 6 2 2 X
2 956 16 2 9 226
HETH 133 - - - -
Ak 4 5 B T 222 - - - -
YRE T 452 10 2 - -
o FETH 450 4 1 7 190
BAFT 69 4 6 - -
BRPRHT 191 4 2 = _
Ly 34 - - - -
KA HT 122 4 3 = =
PREHT 60 3 - -
KRAGHT 91 - - - -
AN 157 2 1 - -




5. =EXENR BN EREE
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BEREAXR-ZFZAN (FHN2F) (. £EFEE (SFf06 %)
S ﬁ'ﬁ’;}% IT‘E?%ZIK oA =l A § ;{;i? ﬁé%é F{lﬁ%ﬁ
R T ) (he
IR B AT 279 2 1 - -
i A Bt BT 192 6 3 = =
BRI 198 10 5 - _
mamsnr | 244 7 3 _ _
Sy 359 7 2 - -
ave—Jii ) 163 7 4 = =
P = #his
FIFFT | 1, 101 22 2 2 X
T 417 2 1 X
A 45 7 429 4 1 4 96
HBHET| 1,994 43 2 19 211
ek T 822 11 1 35 3,027
=T | 1,200 39 3 - -
FN ST 125 3 2 = =
e 1 T 46 - - 1 X
I X L 287 9 3 1 X
=2 HH HT 342 7 2 - -




. RN AN BEERE

RS
BEREXR-ZEZN (FF2F) . £EEE (FH65F)
X 5 f ?E?%ZK &= A T %@? ;{j'ii'; %a;fé F%R%fa‘
R TR G TR oo | cEmEm (e
B = Hhisg
HAET | 2, 741 77 3 —~ -~
2| 1,685 36 2 1 X
T AR T 622 6 1 = =
k| 1, 261 15 1 7 163
R | 2,987 89 3 - -
AR ST 154 5 3 1 X
IR HT 45 5 11 1 X
AR AT 25 1 4 1 X




6. tith
RS
i (SF164) . BMEM (S5 F)
S il S T w |
G (ha) (ha) (ha) %)
EFERE 5,173 [72,500 [41,000 |31,500 14
R IR
4 i T 326 959 464 495 3
— BT 114 2,730 1, 650 1, 080 24
g = 111 252 178 714 2
- 47 688 526 162 15
FAFHH 93 596 312 284 6
T 25 831 709 122 33
Kl 75 884 604 280 12
g 56 1, 300 767 528 23
PANEEI ] 30 578 83 495 19
N 63 781 503 278 12
YR/ B 79 3,150 1,690 1, 460 40
T 43 588 169 419 14
KIF i 34 682 203 479 20
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6. it

RS
T (FF6F) | HHhmiE (FF5 F)

< o | e

(ki) (ha) (ha) (ha) (%)

FZ 46 | 1,060 461 595 23
S BE S 21 129 71 58 6
ESp=aiil 10 246 169 77 25
AT 23 461 316 145 20
H T 35 428 310 118 12
255 T 67 | 2,950 , 310 641 44
el 17 231 106 125 14
b4 i i 18 369 259 110 21
PR E T 49 [ 1,750 , 570 184 36
& FE i 27 837 641 196 31
BT 22 186 90 96 8
BRI HT 18 335 237 98 19
LT 6 61 49 12 10
KA HT 14 446 342 104 32
R HT 11 242 68 174 22
KIGHT 7 109 62 47 16
R HT 11 175 149 26 16
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e P e e KR

(ki) (ha) (ha) (ha) (%)

TR 5 R 22 592 539 53 27
7] ZA, b T 24 197 523 274 33
BT ET 31 959 591 368 31
P 2 22 T 38 754 159 595 20
ESpLI 46 1,120 523 597 24
k=4 LI 26 420 237 183 16

7 = 57T o 5t

| 387 | 3,130 | 2,330 | 807 g
ELaEa ] 37 895 386 509 24
PR ] 50 1,170 906 262 23
B 918 6,190 | 4,740 , 450 7
22 Y T 86 3, 590 3,010 579 42
[P 161 5,080 | 3,320 , 170 32
FSIRVAL ] 16 375 313 62 23
& e T 13 184 142 42 14
H L L 32 7125 391 334 23
== [H HT 57 1, 060 693 367 19
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T (RFI6 ) . BLEHE (S5 E)
o | L o .- |
(ki) (ha) (ha) (ha) (%)
o = 58T o i

HAE T 262 7,420 , 420 , 000 28

=11l 161 3,170 , 380 , 190 20

wEARTH 57 823 35 788 14

ok 499 2,700 , 540 , 160 5

M R 191 6, 230 , 280 , 950 33

By 274 775 401 374 3

B SR W] 123 218 67 151 2

AR A 156 112 29 83 1




7. FEREFMOES

REMhEmE (Ff25)

10ha LA b= #% & & oo m f

% s E%ﬁg 5jjujﬁﬁf$mi*§ e -
R %= | B A | E K| R A
(ha) (ha) (%) (ha) (%)
EHER 43,258 | 21, 308 49 | 18,334 42
Rk
b R T 523 210 40 196 38
—E= 1,444 847 59 801 56
W= 74 9 12 - -
- H T 413 2217 55 159 39
AT 210 40 19 28 13
HERE T 554 375 68 366 66
NN 408 149 37 132 32
e T 537 272 51 216 40
PANCZRGT] 96 17 18 11 11
/N 301 137 46 105 35
TR 1,660 893 54 841 51
R T 386 11 3 11 3
KRIF 342 85 25 45 13
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REMhEE (F/25)

©% 2 5 ha BL b % Bk o> @ A | 10ha LU B R E K o B
ST i 1 = = =
HlOE | B A ESE ol I

(ha) (ha) (%) (ha) (%)
VSIEATT] 472 175 37 130 28
BN T 43 28 65 28 65
E=y=aiil 115 51 44 42 36
BT 279 113 40 105 38
H M 238 79 33 73 31
ZpEi | 1,802 896 50 853 47
G2 T 64 - - - -
Jes i 106 = = = =
yrE |1, 371 906 66 886 65
HET 583 329 56 313 54
EA Tt 60 24 41 18 31
HRHT 226 93 41 93 41
LAy 18 - - - -
K EHT 239 171 72 164 69
FRZHT 147 105 72 92 63
KIGHT 51 - - - -
g T T 136 39 28 32 23




7. FEREFMOES

R

REShmiE (FF02 %)

N %%?; SELJ‘,k%%E‘fZJ&U)i% wiufﬁﬁﬂw)zﬁ
= | FOA ESI il I e
() (h) (%) (ha) (%)
IR 774 453 58 434 56
Re] A EEHT 541 357 66 288 53
FRAET 493 308 63 271 55
FERSIEZ] 283 94 33 35 12
ESSi) 476 163 34 56 12
T 228 104 46 78 34
78 =] iz
o] iy v , 865 1,089 58 981 53
A 760 346 46 254 33
PUES) 929 573 62 483 52
EH T , 339 1,877 56 1, 731 52
22T , 101 2,478 80 2,424 78
[Pt , 446 2,634 76 2,574 75
FNSL T 259 175 68 175 68
e e 129 91 I 91 Al
] 534 291 54 254 48
S HHET 879 626 71 590 67




7. FEREHHIERS

R

REPHhmIE (FF02 %)

IX §7\ iﬁ % f%i_ SELJ\:hﬂT%’EZ’ % VD/H:%E loiuj%g’ > iﬁ
Rl %= & | B A ESNE - I e
(ha) (ha) (%) (ha) (%)
B =l this
BiEni | 4,163 | 1,330 32 732 18
=) | 1,609 435 27 374 23
T AR 501 25 5 10 2
ki |1, 344 359 27 207 15
Mg | 4,442 | 1,109 25 475 11
B S0 234 107 46 78 33
T 19 - - - -
EARAT 13 - - - -
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RS
EY) (F05 FE)
X 4 | K FE N KO
JIE A7 JIE A7 JIE A7
(he the the
ZHE |25, 800 5,960 4, 360
5 fth 15
4 R 432 17 X nc 28
—m= | 1,490 4 X nec 2 | 28
e = 93 | 44 X nec 1 33
M 327 23 = = 3 23
#H S 252 29 - - 1 33
R T 567 14 X nec 1 33
K 376 20 X nec 3 23
g T 529 15 = = 9 17
PANEZRT ] 65 47 - - 1 33
sINHCT 418 19 X nec 0| 42
Gyt 1,270 8 108 10 2 28
A T 127 41 = = 1 33
KNF i 160 37 - - 3 23

B BMOKEAHEE [E#Etd

EEGLIE. METEHMZRVRERIELZTH S,



8. 1R

IEEFE (FM5EE) . fEE - fEXK.

& (FF2%)

5 T (52 3
x 4y | fEfF | EEmEGZOEE | B X - .
wAx | 1 4 | 2 gz | fEAK

(ha) (ha) (ha)
=502 5,967 |[#x+vRvY |Exr~y 1, 641 267
B SR Hhisg
et - X _
— BT 59 |menw |FEiiL. 7 -
ﬁE)EFﬁA - X —_
= T 2 |Z2xrRy 5 -
= B - 4 X
R 2 |z&br=< b X _
Kl - X X
e T 38 |2xvRvy [f=F4=F X -
PANE=RIH] 34 |EEWCA |MERE X -
JINBCTT = X =
Rk 97 |E5hAazxs5 |[BEZEFE<EN 180 -

N N R PR

R T 45 |[=FEhE L ix X -
KIFH 15 |[I=FHE |2xvRY X -
EH . BMKESHITSN (BEEELRFHT (SHMsEE) I .

[2020F E#MELHY X



8. 1RO

=S
¥ (5 FE)
X 4y | K FE N =2
JIE A7 JIE A7 JIE A7
(ha) (ha) (ha)

FNZ 312 24 - - 3 23
2. 3R fib i 61 48 = = 0 42
E=p=aiil 131 | 40 - - 0| 42
=N 189 8% X nc 16 13
H 226 32 X nc 2 28

=P | 1,320 7 324 6 50 12
e 84 45 X nc 0 42
Ae 4 it 1l 239 30 = = 0 42
YR T 970 10 462 5 250 5
& FE T 526 16 67 16 0 42

FAF 72 46 X nc 0 42
SRR T 165 35 X nc 2 28
=1y 44 50 - - 0 42
O HET 179 34 = = 10 16
SN 38 51 X nc 0 42
KIBHT 51 49 = = 0 42
BE YT T 135 39 - - 0 42




8. 1R

IEEFE (FMS5EFE) . fEE - fER. F (FF2 %)

Eist = [ 3
X 4y Vet LT AN K e
wiAg | 1 fr | 2 g [ A

(ha) (ha) (ha)
N2 T 49 |[fcFhEF|ZL AR X X
J2 3R AR T — X -
E= =] 2 |MBhRE X -
=iz - 5 -
H ¢ - X -
278 80 |®rLCA [2&ER< R X -
G ZA 10 [E3haes X -
b4 oy = 1 |E5hAaz> X _
Y& T 23 |&&r<tr |BRELT 9 -
b FE - 5 _
Y - X x
B HT - X _
LT - - _
K HT - X _
RS HT - X _
RAGHT - X -
BELHT - X _




8. 1RO

)
E¥ (5 FE)
X 4y | K Fa N o
JIE A7 JIE A7 JIE A7
e (e (e
=l 330 22 176 8 154 1
T A Bt BT 304 25 = = 4 20
R T 271 27 - - 14 14
¥ %0 22 WT 122 42 = = 1 33
L e T 368 21 - - 4 20
Jiave =20 144 38 X nc 18
P8 = a ih ik
[T | 1, 340 6 588 4 514 3
T 292 26 88 12 82 10
pUEAN ) 574 13 236 1 136 8
2 HET| 2,180 1 897 3 439 4
ey | 1,780 3 1, 050 2 , 050 2
vEET | 1,820 2 1, 240 1 , 220 1
F0 S TH 163 36 108 10 90 9
& e 105 43 37 17 12 15
F X L 263 28 11 15 4 20
5z FHHT 424 18 168 9 173 6




8. 1R

RS
IHEEXR (FMS5EFEE) . IEF - fEXR. & (ff12 %)
X 4y ﬁ:if %Eﬁﬁ%ﬁi%ﬁé& 1L & e
mAE | 1 £ | 2 g | fE R
(ha) (ha) (ha)
T 5 A 2 |&&Er=k 3 -
(/=) 6 [BxrRy |lFERE 12 =
R AT 7 |[2xvRy |[foFhE X -
P 20 22 T 69 |2xvRvY |fzFHE X -
3 Yl 9 |[fcFEhE |[BFxv~y X -
v 6 |2xvry |[foFEhE 5 -
78 = A Hh ik
[iee] W 7 20 | BRI |BELET X 13
AT 304 |&izACA |[fcFEhE 39 -
X BT 1 |z&=w>5v X _
i 22 |mErcan 24 35
Z Ik h 13 |#®&zws5Y (BFLY X 10
Ve R 713 |[F=FH & |[=izati 97 101
FSIRVAN ] - X -
=R - X -
XL 11 |m=FcEn 3 2
== H AT 12 |ERGT [BFLGT X -




8. 1RO

=
EY) (¥ 5 FE)
X 4y | /K Fa N < o
JIE ASZ JIE A57. JIE A3
(e () (he
W= n[Hhig

HiEmi| 1,470 5 84 14 3 23
st 883 11 88 12 80 11
WAL T 24 52 = = 0 49
ST Yk T 985 9 X nc 18
A J5L T 832 12 X nc 1 33
X ESHT 235 31 - - 1 33
IR HET 10 53 = = 1 33
EAR AT 6 | 54 - - 0| 42




8. 1@
)
HEETHFRX (FFSEE) . IEE - TEXR. T (FF245F)
X 4% 1@*2» %Eﬁ“ﬁ%%;ﬁi%?\é& £ = - S
wAE | 1 fr | 2 pr | B
(ha) (ha) (ha)
B =l #hisk
BIETH | 1,890 [2xv~y [&&Fr< b 53 23
)T 127 |2&r< bk |[2FvRY 87 -
5 AR T - X X
BTk T - 9 53
HAJEH | 2,933 [&xv~Ry |&xv_y 893 23
e i - X 1
B HT - X 3
AR AT - - 1




9. BE=

BE= (Ff2%F)

5 4 E £ - fEKR b |
HE M | Mm% | #E b | MR | #F M | bR
GREE ) | GRS 14) GRgE ) | GReE A0) GREE A | GBS 1A%)
EXNR 8,549 |3, 445 1,355 [2,299 | 4,476 | 486
iR this
4 T 177 38 16 11 123 3
—'BE T 253 52 13 10 35 1
W T 40 4 9 - 11 -
T 30 14 4 11 12 2
BN 72 8 8 7 92 3
T 38 22 6 7 14 =
NI 21 1 4 3 65 1
Wi 46 18 4 16 25 3
YAN=Z T ] 81 3 7 4 -
/N 47 5 8 1 87 =
Fa R 307 84 256 68 96 11
el 242 49 34 34 280 23
RIFh 136 25 7 4 75 29

B BMOKEAMETE MN202082MEE 9 X
I BRSEEMIOMEMAIMER GRS BEMGRK



9. BE=

RS
EH= (%F12 %)
s 2 3 it x - AR ®R
BB OHbL | bR | #E b | BE % | 2% Hb | ER
R ) || R ) R ) | GRER ) R ) || GRER 1)

T2 137 30 13 16 86 10
2R 18 2 3 1 10 1
aaTh 36 6 4 1 8 1
AT 44 2 7 7 45 =
HHET 53 6 5 - 54 2

ZPE 433 | 191 79 66 23 1
VEZETH 92 9 4 6 7 -
Jes i R T 71 3 = 24 2
YRE T 1 56 8 19 23 1
& FE 97 14 16 9 5 =
BAFT 20 - 1 2 9 -
FRPRHET 48 7 7 1 11 =
Ly 2 - ~ ~ 1 -
KT 17 2 = 1 6 1
PRZEHT 34 6 1 1 6 _
RIBHT 42 = 2 2 2 =
BEYLHT 5 - 1 8 8 -




9. BE=

=5
E3 (702 4)
N R
W oh || @ o || @ e e
GREE A | GRS 1A GREE ) | G149 GREE AR | G149
N 68 13 3 6 4 -
AT A BB T 69 16 8 23 46 1
AT 34 13 5 5 53 20
P 26N 26 KT 79 17 15 44 85 7
SE{HT 79 19 20 10 128 15
T 35 7 5 8 14 1
76 = 5 sk

o] i T 251 97 48 21 95 9
AT 272 76 29 59 45 8
MU 104 8 11 7 54 2
S 392 61 69 37 249 5
YR 222 | 100 23 40 201 14
[iP==0E) 254 | 179 105 | 159 179 14
FNSLTH 8 1 2 1 4 =
e T 13 1 4 3 -
&L 65 7 12 10 131 13
S HHHT 66 51 12 102 8




9. BE=

=3
B3 (SF24F)
w2 |wex - Al ® M
B
o |mear| @ o [sae| @ o [
G 1) | G 149 GEEm | GeEA GREA) | GRE7)
o= A
A 1,251 | 764 47 | 130 648 54
=] 708 | 435 170 | 188 360 46
T AR T 50 65 11 29 512 | 134
ST T 180 75 49 14 209 11
FH LT 1,593 | 731 173 |1,173 68 28
AT 35 39 6 6 2 1
ST 7| 2 3| - -
AR 4| 8 -l - 7| -




10. &=

BE (FM24F)

i 52 H B C fl 2 L T W 5 #& 5 K ¥

e
Lar|mmr] w [mam]reo—
GiRE 1A) (i 1A) (e EAA) (e =44 G 1A)
EENE 224 316 95 112 22
EIRi
A - 1 - - -
— BT 1 = 1 2 -
W it i 3 - 1 -
H-H 22 24 2 1 =
A 1 1 - - -
AR - - - 1 .
Rl - - - 2 -
T 6 5 2 9 -
ANCLE - - - - -
AN - - - 4 .
R il - - - -
it it i 1 1 - -
KRFT 10 9 2 1 -

B BMOKEEMEE M2020FE8BMEE P X]

F DA S—ITHBE L-REARK



10. &=

R

BE (FF24%)

X o

B 76 H B9 T i 3% L T v 5 R H KK

7L A

A 4

JK

TaA T —

FSIEAN
J2 RN T
A
E T
SR
=P T
I ZE
S[Z 3T S
YR T
»E
BAFT
BUARHT
o LT
KA HET
RS T
KRAIGHT
fEITMT

Gt 49
1

A NN

GR&E 1A

1

- B~ N

GR&E 1A

CREEE 1)
2

1

2
2

GR&149)




10. &=

R

BE (Ff24)

AN Wk 72 B B9 T fil 3} L T W DR B K %K
4| WA 28 BRINEL |7 arT—
GRE B 149D GIRE = 1A [€:%=99) GIRE =14 [€:¥=2%9)
TR E5 AT - - - 1 -
AT A L T 7 6 - 3 -
HIH AT 5 8 3 1 -
R N 22|y 3 5 6 1 =
T 4 2 3 4 -
iEwe R 8 7 1 1
78 = ;artthisy
[v6] U T 7 12 2 8 -
A T - - 4 - -
XI5 T 1 1 - - -
T 11 25 2 8 2
22k 3 5 2 1 _
vE =T 17 20 7 5 1
FASNT T = = = = =
T T - - - 4 -
H &Ll 2 - 1 -
S FH HT - 4 1 - -




10. &=
=3
BE (H24)
HZ 75 B B9 T fil 2 LT W DR R K
X 4y
LA (m Al BRI T
GR&149) G 14) G5 149) Gt 149) GR&149)
B = 3T dsf
EAET 34 44 18 6 6
)17 12 9 10 11 1
A - 1 - 1 B
it 8 35 - -
FA T 49 73 24 14 5
EEU 1 3 - 1 1
LT - - - - 5
AR - - - - -







